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Find the inverse of each function.
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Graph the function and its inverse. Is the inverse a functlon"
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State the transformations of the parent function. Identify the domain and range of each. Then
sketch the graph.
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ce the transformations of the parent function. Sketch the graph of each function. Then state the
omain and the range.
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Solve each equation,
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Solve each equation. Remember to check for extraneous solutions. )
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Perform the indicated operation.
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Simplify.
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Write each expression in radical form.
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Write each expression in exponential form.
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Simplify.
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